ASSEMBLY

ASSEMBLED DIMENSIONS AND PARTS IDENTIFICATION

SMART TABS STAINLESS STEEL #TBK 201 Kit >
Transom Bracket ~ ===== <
S
! #EF-PS-140 £
STseries "
PLATE SIZES 10.5ﬂ§o Bottom
End Fitt #HCS516 ( 5/16'X1.25") o fransom
;' End Fittings & #LN516 (5/16") Note: Di
", " ote: Distance
7"x 8 (Removable) Machine Screw & Nut can be reduced
< to 7.5" by moving
<+——— Actuator plate bracket
w/Boot back to third

9"X 8"

mounting hole.

|

12"x 9"
o
On Center
10" Hinge : T S
9 ” \\\ —_

16"x 10"

#EF-PS-140 b HCSSfIGI 5/16"x 1.25" &
ST Series End Fitting 4 LN516 5/16"

Machine Screws & Nuts

V.
. ~~'~

S
S ~~, #PBK101
Ser:%tl?(.we b 3 * Plate Bracket

83"

#TP1290
Trim Plate

#PH6150 Plate Hinge for ST780 & ST781

2.0" ‘lv'
¥V Wide

1M%R"

«4— Transom Bracket - #TB9510-1
5/16" Bolt (#NMS516) & 5/16" Nut (#HLN51618NB)
& <4— End Fitting #EFC9510 (Removable)
B —>
4— Actuator Identification Cable Clamp Color Coding
SMART TABS SX
Part # Description Qty.
101" TP9510 Trim Plate 2 each
Actuator CH9510 Hinge 2 each
#GA5000 - _ _X
NMS382 Machine Screw/Bolt Nylon 4 each
2.0”
875" sSemni
Hinge Width <==¢ HLN3816 Nut Nylon 3/8” - 16 4 each
#SCR1434 GA5000- _ _x* Actuator w boot & end fittings 2 each
. #14 Stainless
#(Ii-ll-IIanEe‘IO\A o lsr]e: Me;alltScrews *Insert two #’s indicating actuator pressure (ie. GA5000-60X)
.0" Nylon Hex Bo R
Ny\onon (318" Dia) #NMS382 TB9510-1 Transom Bracket 2 each
3/8"16 ¥ % NMS516 Nylon Bolt 5/16” 4 each
#HLN3816 _
v e HLN51618NB Nylon Nut 5/16” 4 each
End Fitting —<—» SCR1434 Stainless Screws #14 x 3/4” 16 each
(Removable) \ ) 10.0" Deep
#EF9510-2 EF9510-2 End Fitting for Actuator Included
Bottom
5/16" Bolt & #NMS516
5/16" Nut #HLN51618NB EFC9510 End Fitting for Actuator Top Included

Trim Plate
#TP9510

>

N






